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Mechanic cum operator Electronics Communication System Level
1

Q 1) The electronic component which cannot process the signals are called
component. AT TP SNl Hdbdll B! G T8I B Tbd & 30 gedh
GRS

1) transistor EA”%RE?
2) Active Ufdea

3) Passive

4) Resistor YRIRCX
Q 2) The unit of capacitance is TR Dt Wlé %

1) Farad s
2) Henry %:Iﬁ
3) Ohm 31

4) Weber dcR

Q 3) One of the example of an active device is T Tfhg %Tﬂ%ﬂ DI UD 3ale Ul %
1) electric bulb faggdIT Fedl

2) Transformer A.

3) Loudspeaker A SIHR
4) transistor E:Iﬁlw
Q 4) A resistor has a colour band sequence : Brown,Black,Green and Gold its value is T

IR H UH HR oS IHH BT 8: URT, BT, BT 3R e 39HT A §

1) 1kQ + 10%
2) 1000kQ + 5%
3) 10kQ + 5%
4) IMQ £ 10%

Q 5) The fourth band of the resistor indicates the of the resistor. YRR BT NYT &S
R F 1 Hbd T g

1) multiplier HeC IR
2) Tolerance Tlasy

3) digit

4) Power JiaR

Q 6) The ideal current source has internal resistance. 31|§52i YRT A H
3iafves ufaRry graT 8

1) Zero YA
2) Low hH

3) High 3
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4) Infinite SORfia
Q 7) A silicon atom contains Udh ISINEDE UHIT] g %
1) 4 proton UIeH

2) only 2 electron orbit Had 2 s@m; ! $&‘|Tﬁ
3) 4 valence electron 4 TSt _ES@TE:FT
4) 5 valence electrons 5 TSIt 3@5@:{

Q 8) Two atoms of semiconductor are held together by 9 & gRI 9Hideaex & ol UHIT[
Th Y Y EA §

1) covalent bond W—ﬂﬁl\_yﬁ gY
2) ionic bond 3A® §Y
3) metallic bond YT &Y

4) Noneﬁﬁ@aﬂgqﬁ

Q 9) TO obtain N-type semiconductor, impurity added to instrinsic
c R e DR N C
semiconductor TA-UDH R HULTTDH UTd B %ﬁ‘m, SRl HIdR P SHYTcIh

T fiyerrs ot 8

1) Trivalent FTTSH
2) Tetravalent am\_:ﬁ

3) Pentavalent ]

4) None _Ghﬁ_sc '_ﬁ)[

Q 10) In aP-type semiconductor the majority carrier are TIPSR & 31 efaTae o I
aeF B §

1) Holes &g

2) electrons 3@5@%\[{
3) positive ion YA
4) negetive ion UMY

Q 11) The potential barrier for a Ge diode \_rﬁ—g STATS & forw JyTfad amen %

1)0.3val
2)0.03v dl
3)0.7vdt
4)0.07v dl

Q 12) Output of a halfwave rectifier consist of Udh BTHAd XFCHIIR & 3113 cyc oy
RUIECE

1)dc onlym@ﬂ?ﬁ
2) dc&acboth@om)[\ﬁ'{wa:ﬁ

3) ac only

T
4) Noneg_"lﬁﬁ?ﬁg:lﬁ
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Q 13) PIV of a fullwave centertapped rectifier is equal to T wﬂad TS VFAHRR &I

Hamgal g & ReR @

1) Vmm

2) Vim/n
3)2Vm
4) 2Vm/n

Q 14) The ripple factor of half wave rectifier is B dd Yac B IIR &1 RUd HRb %

1) 0.428
2)1.21
3)0.3
4)0.46

Q 15) A varactor diode is optimise for Y NI SATS fa® 1%112 Sl Ea_rlT %

1) high output voltage 3= 3T3CYC diccol
2) high output current 3= 33CYc YRT

3) variable capacitance 3{dX TR
4) none

Q 16) In octal system there are digits 3Fh PYIK]] ff, |3|§1€§| G %

1) 16
2) 4
3)8
4) 64

Q 17) Binary means CIESRKCE] 3 g

12
2)0,1

3) BOTH
4) NONE

Q 1% What is the memor size of 8085 microprocessor 8085 W@@W BT HAR MHR
T

1) IMB THaT
2) 1024KB hal
3) 64K &

4) 128K &

Q 19) In a receiver which stage rectifies the IF signal Udh et & I T TRT 3ﬂ€'Q'q7
Gohd B URAT §

1) Mixer R

2) frequency converter g HrideR
3) Detector fgeaer

4) Loudspeaker GISERYIER
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Q 20) What will be heat frequency between wave at 2.76MHz if they at 180 ‘out of phase

2.76 TITECS WR AT & Si1d ST SATGIT &1 8T Al d 180 TSUT 313e 3Tt el &
1) 455KHz fopeiigdsl

2) 100KHz
3) 50Hz ol
4) OHz ol

Q 21) RF circuit superhetrodyine receiver used to 3RUWD gfhe QUQQQ\ISI'%"‘I ESSIERED

9 & e swwe frar STar ®

1) select the wanted frequency gifea \’tﬂﬂﬁl BT IqT IR b forg

2) reduce the noise figure qvﬁﬁ TR BPIFABHA B 1%113

3) reject the interference such as image frequency Bfq Gﬂgﬁ oIt serelf Y A & forg
4) all of the above SURIGA & TH

Q 22) In superhetrodyne receiver, which stage produces IF signal W@Iﬁq iR ¥,
B I IR0T ST R ST P &

1) Mixer fRR

2) RF amp 3{RUM T
3) grand condensor YS HSW

4) None ERLEl Ebal_sc Tel
%)grequency mutiplier usually operate in flrehal Hec IR THIR R g & wrf

1) class a Q'Uﬂlf
2)class b oft ot
3) class ¢ oft <t

4) Pushpull YRAYci

Q 24) For efficient amplification of RF carrier the most frequency used in amplifier HRTWH

qED & YHTAT Haed & oy TR H SUART &t &1 aTell I 31ad §

1) class a Q'Uﬁﬂ
2)class b oft &t
3) class ¢ oft <t

4) Pushpull YRAYci

Q 25)%Medium wave broadcast is used for HEH dXT YR HT SUIN] IGL] & 1%112 foar
STl

1) regional service REIRESEI]

2) national service QTQTC[ T

3) international service GHT@'C[ T
4) None E:I'E[ q ﬁé i Tsﬁ

Q 26) The linear beam tube (0-type) is Y@ ot A (0-UhR) %
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1) Gyrotron ‘Iléilé,\l:l
2) Apmlitron G
3) Reflexklystron ROcIaRITGIe =

4) megnotron

Q 27) A hollow rectangular wave guide acts as a T TRIAT ATIIHR a4 Mgs g e
¥0 H &1 Bl §

1) LPF T@UTH
2) HPF

3) BPF

4) LFR TAUHAR

Q 28) The microwave junctions are basically J-Iliiob\lad SENE PUESE | %

1) power dividers OidR f&argex
2) Combinors

3) both a&b T 3R &t g1
4) Noneﬁﬁ@aﬂéqﬁ

Q 29) The troposphere extends from earths surface to a height of W qu‘ﬂ &1 gdg

frofifad 3o a el g8 o

1) 18km fopet
2) 50km bt
3) 100km Tt
4) 250km Tt

Q 30) The maximum distance outer atmosphere is CIREISICRYE I REIRE L] _g'_\ﬁ %

1) 50km fodt

2) 100km Tt
3) 200km fordt
4) 400km fopeit

Q 31) The duration of sunspot cycle in e qreferd &1 3afy %

1) Syears Gl

2) 1lyears CL
3) 20years GL
4) 50years G

Q 32) The term radar stands for X[ Y[SRR T 3 g

1) radio direction and reﬂectioniﬁ'@h Slq\ioh?l"l Q_S' Ru&m&m

2) radio detection and ranging ST S Ts I
3) radio dispatching & receiving JfSal e ts Rdfd
4) random detection and reradiation ¥&H fSeawH e IRFSTRHA
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Q 33) In a radar as soon as to transmitted pulse terminate, th transmitter disconnect from the

antenna by S &1 ASR H 91 B TS U THIW g1 Offcll ], SHier T4 g &
gRI fSpae I fear omar &

1) Duplexer W
2) Mixer R

3) ART switches TR EeER]
4) Detector fgeaer

Q 34) The avalaible bandwidth transpender in C- band (6/4GHz) s (6 / 4GHz) |
SUTsY defagy Tu=R §

1) 400 MHz HTTTgeo

2) 500MHz

Mg
3) 450MHz BTTTECS!

4) 700MHz

Q 35) A series of paper has length to width ratio of approximately / PTG P T %BQMI DhI
ST q SIS BT SATATd AT gl

1)3:2
2)V3:1
3)2:1
4)5:3

Q 36) While drawing concentric circles using a compass, beginning should be made with
the . Wﬁwwidﬂﬂdﬂ&d QT‘TWQIC\HIODQCI JHY, R[>3HTd
3k

1) largest circle / qey a% qd

2) middle one / &< & Teb ()

3) smallest circle / a4 Bl qd

4) any circle arbitrarily / g foar ot qd

Q 37) A Chain thin Long-dashed dotted line is used to represent a ./ Th ERl
RAGM s aRI®ISTN  $HicuA® oufearsmargl

1) Centre Line / b @l

2) Cutting Plane Line / CTRIRNEECG]]
3) Border Line / T 3T

4) Extension Line / GRS RERE]]

Q 38) For A type lettering ,what is the spacing between the characters according to the

height of letter h? /AW%WW%%Q a{&r{hﬁ@qls %\Hjﬂl{ 31eRI & d
R ]2

1) (2/14)h
2) (6/14)h
3) (20/14)h
4) (7/14)h
10.6.60.71:8080/gbexcel/admin/Download.aspx?id=69 6/27



7/27/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=69

Q 39) Which of these is not included in the title block? / 378 ¥ I T M sA1h A
RIERERE

1) Scale / T
2) Title of drawing / ST BT XYH
3) Method of Projection / PISENEEIRCIR]

4) Remarks /

Q 40) Which of the following statements are correct. The dividers are used to : 1) to divide
curved lines into desired number of equal parts ii) to divide straight lines into desired
number of equal parts iii) to transfer dimensions from one part of the dra

1) only statement ii) is correct / FHad HY i) el %

2) only statement iii) is correct / Had HYT iii) el %

3) both statements i) and iii) are correct / 1) 3R 1i1) Gl HY el %
4) all statements i), ii), iii) are correct / TH BUT i), ii), iii) To! &

Q 41) 2H grade pencil is used for ./ 2H U8 URd &1 Iudi &
NIERISIGI]

1) drawing Border Lines / @TITWI}Q’ PGICE

2) drawing visible edges / ©RYU PRI @I T
3) lettering / 3T

4) drawing construction lines / famfor m PGICE

Q 42) Which of the following is not a part of a T square? /Fafafea 8 o T & wrR

&1 fow -Tel 52

1) Blade / &8

2) Stock / Kl

3) Working Edge / g S|
4) Ebony / Qa:ﬁ

Q 43) The size 350mm X 500 mm of drawing boards as recommended by the Bureau of
Indian Standards is designated as ./ YRR b &R gRT SRR 350 e
X 500 A SR T SR IS & = H fd foear g

1) B0
2) Bl
3)B2
4) B3

Q 44) Circles of large radius are sketched frechand by ./ 330[ EXIK qd
Had o 9 X@d fHU g

1) Drawing radial lines / i‘%’qﬁw PCIECZ

2) sketching them within a square / Uch PHR & HeR 3 Whd PP

3) using a compass / P HH D[ JUINT b

4) using compass and sketching them within a square/ Y ] JUINT B 3R Udh
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DR b R I g HIb

Q 45) When (a) Visible outlines (b) Hidden outlines (c) Projection lines and (d) Centre lines
overlap, What is the recommended sequence of priority? / S (a) €RYHIT UM (b)

TG TUXHT ¢) TSR @MY 3R (d) 6% T 3NaRay, Urifiissdr &1

1) (a) Visible outlines (b) Hidden outlines (c) Projection lines (d) Centre lines overlap/ (a)
TIHA T (b) T TUGT ¢) TSR 9T (d) H& @l
2) (a) Vlslble outlines (b) Hidden outlines (d) Centre lines overlap (c) PrOJectlon lines / (a)

T TR (b) 3ERT TR (d) S5 34T 3aRAY ¢) W=

3) (b) Hidden outlines (a) Visible outlines (c¢) Projection lines (d) Centre lines overlap/(b)
TG T (2) TGHM UG ¢) UISTaRM @MU (d) % 34T

4) (b) Hldden outlines (a) Vlslble outlines (d) Centre lines overlap (c) PrOJectlon lines / (b)
3T FTURA (a) TIH BURAT (d) Hg T 3NAT ¢)

Q 46) Which drawing helps the mechanics for dismantling machine for repairing purpose? /

TR & 3520 ¥ U P! faafed axa & T i 11 JET A iad & Hag HRdl 87

1) Drawing for catalogue / FHean & forg SIS

2) Schematic assembly drawing / IRET G SRR
3) Exploded assembly drawing / Grsd Jare §I$"I

4) Tabular drawing / %@T‘ﬂ' SR

Q 47) Which type of washer is shown in the given figure? / fa TI_':‘E \31@% T b g UPR &1
IR faemar T 82

1) Ogee / 3fToft
2) Finishing /
3) Flat / Ui

4) Fender / e

Q 48) Which of the following is used for external thread cutting? / §T&<1 YT Te & g
frafafaa & 9 fergeT SuanT forar ST 82

1) Threading Die / AfET GTQF
2) Twist Drill / f¢¥e fga

3) Tap /

4) Tap Wrench / = ey

Q 49) Line XY is to be divided into 12 equal parts by geometric construction. Which of the
following statements concerning this procedure is correct? / XY T DI ST e
SRT 12 FHM 4T H T foban o 31 5 ufshan & da! Faferfaa
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1) Ray line PY, drawn from Y, is the same length as XY / ICRUELG]] PY,Y T @t TI_Sc XY
¥ T AT 3

2) A compass should be set to spread equal to one twelfth of the length of XY / Udh b HITYH
I XY Bl el P TRed [0R P SRISR e & o e fvar S =nfeu

3) A line should be drawn from X to the 12th interval on ray line PY / fpuT @ PY W X

Y 12 d 3RSl dh Th X@T Wid! WHT =My

4) The acute angle formed by XY and ray line PY should be 30° or more / XY 3R fH=or

G PY GRS A HI0T 30 © U7 ITY 3ifAeb g1 AT

Q 50) Which can be used to qulckly access commonly used command and tools in MS

Word? / THTY 98 H 3THAR TR SWATE 811 dTcl HHIS 3R e Bl Sled! o TR HA
¥ fo forgeeT seaHTa fovan o1 gpdn 82

1) Status Bar / ¥¢¥ SR
2) Tool Bar / ¢cf &R

3) Menu Bar / ﬁ:‘[fﬂ?

4) Title Bar / CIgCcd dIX

Q 51) Which scale is used to represent large machines? / EITE& AT 1 wfafAfda dA &
foTQ forer Tt T IUANT o STl 62

1) Enlarging Scale / ufkgeT wha
2) Reducing Scale / YD U hd
3) Full Size Scale / P i HIgul b dd

4) None of these / ST A DIS 6!

Q 52) There are five key practices involved in 5S.Which of the following is NOT amongst

them? / 5 T UTH T 1 M & | FUfad § 3 o 91 o1l 378 I Ue T8 32

1) Sort / AT
2) Sustain / GHTAAT

3) Standardize / A IHRUI
4) Security / gR&T

Q 53) What is the shape of the warning sign ? / IdTa b Bl SATHR T %‘?

1) Circular / g€l R
2) Square /

3) Triangular /
4) Rectangular / TP

Q 54) How may terminals are required in a DPDT switch? / DPDT g o foam efifae
B ATIRIDHT 51 Tl 62

12
2)3
3) 4
4)6

Q 55) Which of the following metal has highest specific gravity? / fFafafed @ 9 fog Yrd
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H I=dH fafkry sy g2

1) Mercury / URT
2) Lead / 18
3) Iron / F‘nET

4) Copper / dIdT

Q 56)%How many thyristors are used in Triac? / §'Ig$ 7 fordm yrafeed o1 I farar
olldl 87

1
2)2
3)3
4) 4

Q 57) How does a n-channel depletion-mode FET behaves in linear mode and saturation

mode respectively? / T Q'_'f—%ﬂa fsfereH-Ars e waY: kiR Als 3R Wﬂ s
H B AR B 87

1) variable resistor, constant current source / aﬁw R’I?ﬂ WX, BT DHIC ard
2) variable resistor, variable current source / aﬂ'@ﬁ I?Iﬁ IR, éﬂ@m B A

X i -\
3) constant current source, constant voltage source / PIXC<T hC @ﬁ, d[XCC dlecy

ik

4) variable current source, variable resistor / o’ Udd PHC @ﬁ, o’ Udd m\;rl KR

Q 58) In N - channel FET, the number of pn junctions formed are: /U - <od Te ﬁ, CE| Y
T SR 1 WA g

1
2)2
3)3
4)4

Q 59) What will be the effect on light emission of LED as the forward current increases? /

BRAS HIC b &1 I TSl b ThT Iegoi- TR T THTT TST?

1) will increase / 3IqH Q'@ Ll
2) will decrease / dg YU ST

3) become zero / dg [ Epf Rip)|
4) become infinite / 8 3FATG (SURTH) BT ST

Q 60) The sensitivity of a multimeter is given in ./ A IHICR P Hda=iaarn
EERIEN

1H)Q

2) Ampere/Volt
3) kQ/Volt

4) Volt/Q

Q 61) IC 555 Timer in astable mode of operation has which of the following applications? /

TRIA & TR 7S H Mt 555 ergwR § FAgfafead & § o9 F sruai 82
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1) Frequency divider / Wit feargex

2) Pulse position modulation / UeH giforRE 'J:I'\Ilga'-‘ﬂ:f
3) Missing Pulse detection / i o feeamm

4) Pulse width modulation / e fagY AIgaR

Q 62) What is the input impedance of an ideal operational amplifier ? / Ud> el gf=me
BT 3TYC SIS T 82

1) Infinite / 3Tg

2) Zero / }[U
3) High / 3=
4) Moderate / HIH

Q 63) %Vhich of these is an universal flip flop? / 3T ¥ B IT ATGHIHS (FAaw) forra
Tag g2

1) T flip flop / €1 0T FATY

2) D flip flop / S GTd TiTd

3) JK flip flop / Steb foreTd Uilg
4) SR flip flop / THIR 0T AT

Q 64) In an active low SR latch ,when both the inputs are high at once, the output state will
be ./ U Wfthd HH TUAR A9 H, 99 a1 37Ye U 1Y 3HfIF gid &, a
3m3eye fRufd il

1) Set/¥e
2) Reset / e

3) Latched / RES)
4) Metastable / Teesd

Q 65) In NTC thermistor on increasing temperature, what will be the effect in resistance? /

TR uftfes # ggd amuHE W, UfaRiy IR 91 UHTE g2

1) Increases / ST

2) Remains Constant / fRR B

3) Decreases / PH LS

4) Behaves abruptly / 3RY HIER BT

Q 66) A load cell is a transducer that is used to create an electrical signal whose magnitude
is directly proportional to which of the following quantities ? / e Jd o SRR g
forgerT SuaT faggad Rua a9 & for foran ST § forest afewmn @fie

1) Temperature / dTYHTT
2) Force / dcl
3) Length / T'ng

4) Speed / T

Q 67) Impedance is measured in J 3'@_67\‘:[ A o O7aT S7ar % [
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1) Farads
2) Volts

3) Ohm

4) Ampere

Q 68) If a 3-input NOR gate has eight input possibilities, how many of those possibilities
will result in a LOW output? / Ifd 3-39Y¢ NOR T H 3{T& 7Y YHTGAN B, Tl 3
GHTGTS H ¥ fobd o1 aRumH Low 3i3eye | g1

1
2)2
3)7
4)8

Q 69) If A and B are the inputs of a half adder, what will be the expression for carry? / afg

A 3R B BT TSR & 3YC &, al Bt & forg o sifiyaafad gt

1) AXOR B
2) A AND B
3)AORB

4) ANORB

Q 70) The number of terminals and pn junctions in an UJT are- / q\@léﬁf T efifaeg ok Siles]
SR Bt T §-

1) 3 and 1 respectively / hHRI: 3 3R 1
2) 3 and 2 respectively / PHRI: 3 3R 2
3) 2 and 1 respectively / hHRI: 2 3R 1
4) 2 and 2 respectively / hHRI: 2 3R 2

Q 71) Personal protective equipment can include/ i IRET 3UD T | HEEXI
e

1) Helmets/ %ﬂﬁ?

2) Gloves/ G&I™

3) Safety footwear/ JR&T Gj\?f
4) all of these/ T T

Q 72) As per 58S concept, seiso means/ 5S YR & SR, g ?'I'I_cqtf%-

1) Sort/ Tl TG

2) Set in order / AT
3) Shine/ ¥d=Sdl

4) Sustain/ IR

Q 73) In the workplace code of practice, the first aid should contain/ HEART DI B

g &, Trifie qRem o MEEIRY

1) crepe bandages/ EQl 1:I'@'EIT
2) adhesive tape/ th tIé)[
3) Non-adhesive dressings/ R fagesa are 3%11
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4) all of these/ T T

Q 74) Which of the following is indirect cost of accident/ ISR ) g‘b(l.ddl P YT
ANTd &7

1) Money paid for treatment of worker/ HSIGX o gt o forg fear ma o
2) Compensation paid to worker/ HoIgX &I fear T BESIESI
3) Cost of lost time of injured worker/ YTl HOIGR & dMU T JHY P AN

4) None of these/ EREREIERE]

Q 75) Which of the following is non-saturating?/ fFafafea A @ em ﬁ?—%iqld %?

1) ECL
2) CMOS
3) TTL

4) None of these/ E:I'Ef I ﬁ's‘ :@Qf
Q 76) Compared to analog signal, digital signals/ TG RIyed &1 g 4, fefoied
Rorew

1) are more accurate/ Il GG Eh?f %

2) allow faster transmission/ CEIREERUE &I_:J,'J:Iﬁ ad %

3) are more accurate and allow faster transmission both/ TGl ﬂ_ﬁgf Bﬁ % 3ﬁ7 aﬁﬁ ﬁ R0
@ AR T § AT

4) None of these/ ET'FE[ | ﬁ'&f ol

Q 77) Decimal number 10 is equal to which of these binary number/ GRIHG TBAT 10 ‘é'-lal'

I frg ST T & SRR 22

1) 1110
2) 1010
3) 1001
4) 1000

Q 78) The tool life increases with the/ 3SR Bt SaTAfY J 9l g

1) Increase in side cutting edge angle/ HIgS i TS T | ded
2) Decrease in side rake angle/ HIgS Y% Ta | gerat

3) Decrease in nose radius/ T Yeuw § werd

4) Decrease in back rake angle/ 9% 3B WA A gerdt

Q 79) A common tool with a rubber head designed to protect the surface being struck is/

W%%%ggom TH Y 3NOR T a8 & YHIfad 8 I S & o S T §,
dg |

1) claw hammer/ goll E’ZﬁST

2) ball peen hammer/ RG] g?hST
3) tack hammer/ AN EQ?IST

4) rubber hammer/ Y&l ga@,T
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Q 80) The NOR gate is an OR gate followed by / &% §1G NOR ¢ U OR ¢ grdl
e

1) AND gate/ AND 7€

2) NAND gate/ NAND 7€
3) NOT gate/ NOT TI¢

4) OR gate/ OR i

Q 81) When an input signal 1 is applied to a NOT gate, the output is/ SId U NOT TeWR
$7Ye Rioet | AT ST g A SMSTYe BT g

1)0
2) 1
3) Either O or 1/ AT AT 0T 1

4) None of these/ EREREIERE]

Q 82) Total number of inputs in a half adder is/ Tch 3G oD | g gc Gl GAVRSLC?|
®

1
2)2
3)3
4) 4

Q 83) A circuit contains two un-equal resistances in parallel / JHIIX T &l e gfaRie
T e Aidhe

1) current is same in both/ ﬁ?ﬁﬁ Udlg a:h A gHE EﬁTIT

2) large current flows in larger resistor/ e g fang Udie deg gfeRIys T a8
3) potential difference across each is same/ O H faHaiaR IHH %

4) smaller resistance has smaller conductance/ Bic ufeoRly A BIC I Eﬁ?f %

Q 84) Voltage is measured in/ giecs &l o AT ST %’|

1) amperes/ AR
2) volts/ dleC

3) watts/ dIC

4) ohms/ 3

Q 85) The Time period of a sine wave is 0.02 seconds. It s frequency is/ T TG AR Gl

THATETY 0.02 Yobs 8| STBT Mg B

1) 20 Hz/ 20 BT
2) 30 Hz / 30 el
3) 40 Hz/ 40 B¢l
4) 50 Hz/ 50 B¢

Q 86) The r.m.s. value of a sine wave is 100 A. It s peak value is/ b HIg T BT r.m.s.
A 100 A §] 39T 3ifdad g g
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1)70.7 A
2)141.4 A
3) 150 A
4)282.8 A

Q 87) For which of these, ampere-second is the unit?/ Q@TR-@IW 3—.{13[ T frget ETFI_&C
29

1) Current / fdggd UdTg
2) Voltage/ giecol

3) Charge/ 3TA=T

4) Resistance/ gfeRIY

Q 88) A J-K flip-flop is in a no change condition when/ Uch J-K foeTg-gara = 3ot fRufa o
g 9E-

J=0,K=0

2)J=0,K=1

3)IJ=1,K=0

HI=1,K=1

Q 89) The only difference between a combinational circuit and a flip-flop is that/ Tch

GO Gihe 3R Toh fORTU-TRATY & s ThHTH iR I8 Bial & fob-

1) The flip-flop requires previous state/ W T | tlj@ﬂ%f AP BIalt %
2) The flip-flop requires next state/ IESERS ﬁ 3‘|'|T|'|1ﬂ fufa smaza® gt %
3) The flip-flop requires a clock pulse/ fOTI-TRATT H gails U 3MTaTS Bkt ©

4) None of these/ ?FI'EI I fbﬁé '_-|—E?[
Q 90) Electronic multimeter measures/ sﬁaejﬁm e IHIeR HYdl %|

1) voltage, current and resistance/ Eﬁéﬁf ﬁ?{ﬂﬂ YUdlg 3R ufeRry
2) voltage and current/ giee 3R ﬁaqa Udle

3) current and power/ [dg{d Ydlg 3R UraR

4) energy and power/ ol ICEY

Q 91) CRO stands for/ CRO T 3T 8-

1) Current Resistance Oscillator/ PC Yo T

2) Central Resistance Oscillator/ @Eﬁiﬁl@ﬂ 3ciex

3) Capacitance Resistance Oscilloscope/ FURYeY AT Ay
4) Cathode Ray Oscilloscope/ FUS Y AT

Q 92) CRO gives the visual representation of time varying signals. The display of the signal

is/ CRO THT R S ard RIueq &1 230 Ufaey <l 8] R o1 fed 8-

1) One dimensional/ T STTHY
2) Two dimensional/ FRCIRIL]

3) Three dimensional/ = ST
4) Four dimensional/ 9} STt
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Q 93) In T flip flop, T stands for/ T oy wairg 'Ef, T 3ARE %—

1) Time/ CISH

2) Transfer/ [~
3) Trigger/ ETIT

4) Toggle/ et

Q 94) A soldering iron bit is made of/ Udh Pigdr &l fae ¥ fAftfa gt %|

1) Brass/ dtaa
2) Tin/ feA

3) Steel/ TTd
4) Copper/ GIEI

Q 95) Soldering iron is made of wedge shape in order to/ Higdl P! golg I Pid
& 3MHR HT I BIAT g

1) Apply high pressure at edge/ PR R I qd T & fam
2) Retain heat/ dl4 CRICESCR|

3) Retain solder/ Tl Bl S 1 3T

4) None of these/ s:lﬁ I a%‘lé :I%)[

Q 96) A counter circuit is usually constructed of/ Udh HTICR Ffhe HIR TR |
CEIRIRSIIE

1) a number of latches connected in cascade form/ PP w0 Y \_{1% Eb_if SE|

2) a number of NAND gates connected in cascade form/ PhS =Y H \_fl)g @3 NAND ﬁ?ﬂ
3) a number of flip-flops connected in cascade/ Hhs T{L@ ﬁ foeraTraara

4) None of these/ ?ﬂﬁ I ﬁé :|—E?[

Q 97) Individual segments in seven segment display are coded/ o T Sl H 3ferT-
3T Yrre oIS fbd I &

1) randomly/ P H fgd
2) clockwise/ GeoTad
3) anti clockwise/ CIEIEG

47t00/7H0

Q 98) If four, 2 ohm resistors are connected in series, then equivalent resistance will be/ afq

2 311 & IR URRIYS T el § IS 8, df I9 Ul S|

1) 2 ohm/ 2 3{1H
2) 4 ohm/ 4 3fTH
3) 8 ohm/ 8 3
4) 16 ohm/ 16 3{1H

Q 99) In a circuit, a 10 ohm resistor carries a current of 2 A. The voltage across the resistor

is/ U Tidhe H, T 10 3NH HT URRIYS 2 A H1 [aggd TaTg 98- &l o] ety o
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Irecdl B

)5V
2) 10V
3)20V
4)40 V

Q 100) According to KCL, the algebraic sum of all currents meeting at a point is equal to/

gu%m,wﬁgwﬁaﬁaﬁmﬁﬁwmaﬂaﬂwﬁﬁﬂuw_w
|

1) Zero/ YU
2) Sum of incoming current/ 3FTHT ﬁ’c?g?[m & T

3) Sum of outgoing current/ CIRRIRS fdggq uare & gl
4) Sum of all the currents/ YT faggd wargl & AT

Q 101) An ideal operational amplifier has/ U 3TeRf IR THHTHRR |
g I ¢

1) infinite output impedance/ 39d 3HT3cge PIREIN)]
2) zero input impedance/ YU gTYC PIREI]]

3) infinite bandwidth/ 3d SSfAgY

4) all of these/ T JHt

Q 102) The Op-amp can amplify/ Op-amp del b dl %|

1) a.c. signals only/ &Had a.c. U

2) d.c. signals only/ Fad d.c. T

3) both a.c. and d.c. Signals/ a.c. d d.c. Rygeq qFl

4) neither d.c. nor a.c. Signals/ 7 dld.c. T8l ac. o

-

Q 103) The time period of a monostable 555 multivibrator/ Td» HHRedd 555 J-IQ'CC\IOII&S&!CQ

FIEE Ade

1) T = 0.33RC
2)T=1.IRC
3) T=RC
4)T=3RC

Q 104) The unit for capacitive reactance is/ FHufyfeg ﬂm G 5’3’75‘: %—

1) Henry/ SRkl
2) Farad/ s
3) ohm/ 3719

4) None of these/ ST Y PIS ol

Q 105) If in a circuit, inductive reactance is 3 ohm and capacitive reactance is 4 ohm, then,

impedance of the circuit will be/ afe Udh gfdhe 'Ef, 5"6fc?cc| ﬁﬁm 3 31 3R HuRifeq
Ve 4 3N B, @Y, Afhe ! ufdaren g

1) 3 ohm/ 3 3{H
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2) 4 ohm/ 4 3{TH
3) 5 ohm/ 5 3MTH
4)7 ohm/ 7 39

Q 106) Relay gets its operating energy from/ ¥l srot ufv=ame Sot U %|

1) Transformer/ E:IG'CFITTT
2) Alternator/ 3T

3) Overhead lines/ 3TARGS TS
4)C.T,PT.

Q 107) What is the bit size of the 8051 microcontroller?/ 8051 WT‘R &1 fae PR
T2

1) 4- bit/ 4- fae
2) 8-bit/ 8-fae
3) 16-bit/ 16-fae
4 32-bit/ 32-fae

Q 108) Which kind of device, a mouse is/ Udh HI3H T THR BT IUHRUT BIal %‘?

1) Input/ gTYC

2) Output/ 3T3cYc

3) Word processing/ CERIRIREA
4) None of these/ E:Iﬁ I Tﬁ_sc :I%)[

Q 109) In a computer, RAM stands for/ T W ﬁ,%q ¥ 3R %—

1) readily available memory/ RN EREREEEIR]
2) read and more memory/ RNELYS] R AART
3) random access memory/ YsH TR ARt
4) remember all memory/ AR sira 4aRd

Q 110) The internal RAM memory of the 8051 is/ 8051 DI ATARD Y7 FHRY

Il o

1) 32 bytes/ 32 913
2) 64 bytes/ 64 ITCH
3) 128 bytes/ 128 V13
4) 256 bytes/ 256 T3

Q 111) Which of these storage devices can store maximum amount of data/ E:I'E[ J DI
TRl [EaTSd STeT BT HABTH AET Wfed B Fabvell 57

1) Floppy disk/ iUt f&%h

2) Hard disk/ 8T8 &%

3) Compact disk/ G CAREsT

4) Magneto optic disk/ DL 3w fetn
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Q 112) Which pin provides a reset option in 8051?/ 8051 T oIt o Re faded U@

?

1) Pin 1/ 04 1
2) Pin 8/ O 8
3) Pin 9/ U 9
4)Pin 11/f09 11

Q 113) Serial ports are connected to/ ifvad qﬁ'&-r | \_{13 G %'\

1) internal modem/ gaRAd AleH
2) external modem/ Qaﬂ?:f?f AreH
3) printer/ fiex

4) motherboard/ AeRare

Q 114) Which transducer is known as ‘self-generating transducer’?/ S T CIHSIJ\{-IQ

Y-SRI TSR & 0 H ST ST 82

1) Active transducer/ Ufgeq W

2) Passive transducer/ BIRsE] aﬂw
3) Secondary transducer/ W TRISIR

4) Analog transducer/ QT'HFI'F‘T €A|F|3®q

Q 115) A strain gauge is a passive transducer and is employed for converting/ Udh @:T US|

o ASPT TSR e iR &l dcem & fo Faifra fear smar g

1) Mechanical displacement into a change of resistance/ giF® fawI &! uicRiY dgard
H

2) Pressure into a change of resistance/ Gld P! UlcRIY ggad |

3) Force into a displacement/ &¢1 CARCEIIRE|

4) Pressure into displacement/ qld CARCEIIREC]

Q 116) General purpose, open source analog electronic simulator is known as/ HIHJ G%QZI

qTe, 30 T YT S e RIRITe & =0 off ST ST 8

1) MATLAB/ TAUC AT

2) SPICE/ 139
3) C++

4) None of these/ ESEECIERE]

Q 117) The principle of operation of LVDT is based on the variation of/ LVDT & TATe
HIfga BIfYFIaTwR emuiRd g

1) Self inductance/ ¥ RHd

2) Mutual inductance/ UXI¥R REHd
3) Reluctance/ Reae=a

4) Permanence/ T

Q 118) The temperature coefficient of thermistor is/ e &1 aradH RIYICE gIdl
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e

1) Zero/ A

2) Positive/ YATHD

3) Negative/ BUITHD

4) None of these/ ESEES) ?ﬁg Tel

Level 1 Answer key

S(I)I.GStiOH Option 1(\?:)l.estion Option 1(\?(l)l.estion Option 1(\g(l)l.estion Option
1 3 31 2 61 2 91 4
2 1 32 2 62 2 92 2
3 4 33 1 63 3 93 4
4 2 34 2 64 4 94 4
5 2 35 3 65 3 95 2
6 4 36 3 66 2 96 3
7 3 37 1 67 3 97 1
8 1 38 1 68 3 98 3
9 3 39 4 69 2 99 3
10 1 40 4 70 1 100 1
11 1 41 4 71 4 101 3
12 2 42 4 72 3 102 3
13 3 43 4 73 4 103 2
14 2 44 1 74 3 104 3
15 3 45 2 75 1 105 3
16 3 46 3 76 3 106 4
17 1 47 4 77 2 107 2
18 3 48 1 78 1 108 1
19 3 49 3 79 4 109 3
0 7 50 9 {0 2 10 3
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21 4 51 2 81 1 111
22 1 52 4 82 2 112
23 3 53 3 83 3 113
24 3 54 4 84 2 114
25 1 55 1 85 4 115
26 3 56 2 86 2 116
27 2 57 1 87 3 117
28 3 58 2 88 1 118
29 1 59 1 89 3

30 4 60 3 90 1

Mechanic cum operator Electronics Communication System Level

Q 1) The depletion is ERE %

1) more for silicon junction Ryferep T Sa=H &1 3ifddbar

2) reverse biased frad srRs

3) without any biased fSHT {3l ST &

4) Nonesqﬁ@faﬂ_gqﬁ
Q2) A diode is U SIS §

2

1) uni directional device Teh fGRITT fSaTsd

2) bi directional device fg fG=ITT fSargy

3) none of these ERCE ﬁ’sﬁ 8l

4y Al Yt

Q 3) Efficiency of rectification in afullwave rectifier is U Jpeidd Ya IR Bl GUR Bt

g 8

1) 40.60%
2) 70.40%
3) 81.20%
4)99%

Q 4) An A.C supply of 230V, 50Hz is conected to a half wave rectifier circuit through a

transformer having a turn ratio 10:1, what will be PIV 230V, 50 _6'?53{ DI D T &ncg% Eal
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TH < U 10: | TS CRABIR o AN ¥ Th g dd JaeBRR Hidbe

1)413vdl

2)32.53v dl
3)22.53v dl
4) 11.53v dt

Q5)ASCllisan __ code TCITAEIE TS PSS

1) BCD di4tet

2) EXCESS 3 TR 3
3) ALPHANUMERIC 3&hT-gaR®

4) EXCESS32 Tau32

Q 6) A decimal number equal and to 11012 = T R Il S SRISR 3R 11012

1) 13
2) 16
3)21
4) 20

Q 7) EXCESS-3 code for decimal number 14 GR[Hd QT 14 %'Q Qﬂ’\ﬁﬂ% AR %

1) 1000110
2) 1000111
3) 1111000
4) 10111000

Q 8) the standard IF value for FM receiver T(hUH R & f%rq HHDh &néqq? HIH T %
1) 445K Hz foraiiged

2) 445MHz ATTCS
3) 10.7KHz
4) 10.79KHz

N

Q 9) A 1000KHz carrier is modulated with 3 KHz audio. The upper side frequency in RF
signal audio.the upperside frequency in the RF signal will be 1000 kHz dlgh P13 kHz
Sfifsar & A1y AT forar STar 81 SIRTw Aohd SISl & 3R A5 3Mgfi| SIRTB
Hobd |

1) 4000KHz

2) 1455KHz

3) 1003KHz
4) 455K Hz

~

Ry &1 e ¥ $Hfid AigaR Y & THSH gRT 3id faal SIrar 8

1) speech amp g Ty
2) power amp UldX TH]

Q 10) Over modulation of transmitter signal is corrected by the adjustment of the RIEaI o
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3) Rf oscillator RTWH 3NRyeiex
4) frequency doublers PHERY RSN

Q I1) At high frequency conventional vaccum tubes have limitations with the presence of

o ) Sufufy & HRUr 3= 3gfty TRuRe JogH et &) 9 §

1) transit time effect giRﬂC cIgH i.q?dt
2) low bandwidth HH SSfAgY

3) high noise 3= R

4) Vaccum

Q 12) Which of the following device use a helex % & ¥ ®19 1 fSa3T AT H1 ST
AT ]

1) klystron amplifier m@q TR
2) klystron oscillator ﬁ%ﬂqzj? 3AReieR
3) TWT

4) both a&b T 3R & GHI

Q 13) The intrinsic impedence of free space is Had R P 3ffaRe gfdaner %

1) 750hm {19
2) 730hm 3H
3) 1200hm 319
4) 3770hm 3MH

Q 14) The doppler effect is used in STITR THTE BT IGANT 449 & foar Srar 3

1) MT1 THST1

2) CW Higsg

3) FM T%UH

4) RADAR ELTIMETER TSR UacHIeR

Q 15) Which of the following in used for IFF IFF & ﬁ«rq ﬁ"H =i HH g1 m foar
AT ®

1) CW RADAR HI€&g ISR

2) MT1 THET1

3) ORDINARY RADAR HHRI TSR
4) Beacon CiCa!

Q 16) Satellite operates in the frequency range ﬁ%?ﬂs?:’ GE] &nqﬁ-r ESE RG] %

1) MF THUG
2) HF TIU®H
3) VHF dITaU®h

4) VHF & UHF d0IU% 3R qUaUh

Q 17) Arrange the following joints in order of their increasing strengths. / IBLINIEES Glg |
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(SIZ=CH) B 3! dgdl diebd b hH B |

1) Soldered2) Soldered3) Welded4) Brazed
Q 18) The distance between Delhi and Ambala is 156km.They are shown 156mm apart on a
road map. If constructed diagonal scale can measure upto 200km, What will be the Length

of Scale ? / fawelt R SfaTel & ol B g 156 HHI 1 3% TS b AR W 156 H

1) 1/5000 cm
2) 20cm

3) 200km

4) 200cm

Q 19) While analysing the response to modulated signal used in communication equipment
like AM and FM receivers, which CRO probe is used? / UUH 31:1? ThUuH ftaw @@ gdR
SUDHRUN H IUFNT fobT ST dTed RN Rrgret b1 Ufclishan o1 fa=eiyur oid 9,
R &

1) Direct Probe / fS¥ae Uie

2) High Impedance Probe / E'I_st 5@3?@[ ma

3) Isolation Probe / N@w I
4) Detector Probe / fSear e

Q 20) To draw perpendicular from a given point P on line XY, where P is near the centre of
line XY. Name the point where the compass needle shall be placed first. /W XY R feQ

T g P & S1eiieis ST o o, SRt P Y@ XY & s & U | U g &

1P

2)XorY/XATY

3) Any convenient point along XY / CAERN| ﬁ%‘r’.ﬂw f%rg XY & iy

4) A point near the midpoint of PX and PY / PX 3R PY & A ﬁ_g' & U U ﬁg

Q 21) What is the function of Snubber circuits ? / daX gfdhe &1 Hrf e %?

1) Reducing the voltages and currents during turn-ON and turn-OFF / 3119 3R - 31
& SR deee 3R FRC B HH HI

2) to produce a high-power AC output from a DC supply / Skl 1v'|'13‘|'|_$c | gls‘-w Leps|
33 CYC DT IUTGT Pl

3) takes excess heat away from switching devices / fRafehT SueRol ¥ sifafted T & X
RECE|

4) Provide high current during starting of devices / JUDHIN Dt R[e3{Td & TR I Pie
gl dhl

Q 22) Which of the following statements is correct regarding MOSFET. / MOSFET

FHgthe) & Ydy § Fafifad § @ H19 91 sy 981 2|

1) It is a unipolar, voltage controlled device / g U Uch k;LTﬁq, dieesl AT Iuspur %
2) It is a bipolar, voltage controlled device / g T %’W, CISSSARRIEGRLERLI %
3) It is a unipolar, current controlled device / g T WW, e FIEd Ius %
4) It is a bipolar, current controlled device / g Udh @gaﬁtr, e UEd Ius %
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Q 23) Decoder with enable input can be used as a . '\J'\1®|Q'1 <1YcC ard fSdiex
FISWT_ FEyAfFmerasarsl 00

1) Encoder / Q:|$-|3€
2) Demultiplexer / SR ITIRR

3) Multiplexer /
4) XOR

Q 24) Resistivity of a wire depends on which of the following options? / dIR &1 Ui
fFrafafed o 9 59 e R MR ol &2

1) length of wire / dIX G4l F‘WI%
2) cross section area / $P1H TR &7

3) material / s
4) All of these / T8 T

Q 25) The peak value of a sine wave is 200 V. What is its average value? / U HIgq 3 BT
e deg (Fe) 200 V B | 3BT SId Yoo 7 82

1) 1274V
2) 1414V
3)282.8V
4) 200V

Q 26) Which of these is asynchronous counter? / 'i'ﬂjl. DT 3‘Igc'¢ld’>li310b (QR—I.J [h )
PSR B2

1) Johnson Ring Counter / S R HTd e
2) parallel counter / FHMIAR (URAeT) B3R
3) Ripple counter / I (F\"CIFD CARLAY

4) Ordinary Ring Counter / HIYRUT T pREdeR

Q 27) Eddy current proximity sensors are used to detect . Q?ﬁ e Urfeafaet
IRPIITT  HIUA AT & o fpar s g1

1) non-magnetic and non conductive materlals / ﬁ? W GﬁT R PCIREIRRIIED]]
2) magnetic but conductive materials / gddvlbl Q'1I0b'-| LIOIIESObILI HITI";ﬁ

3) non-magnetic and conductive materials / ﬁ? gdwlq C’ﬁ? HdIESObILI QT

4) non-magnetic but conductive materials / ﬁ? T;J,GIOqu qIfop Hdlscblq RIEEp]|

Q 28) The output will be a LOW for any case when one or more inputs are zero in a/an

./ S48 U AT U 4 HfYH 37Yc Ty gl e fed W aea &
mwmml
1) AND
2) NOT
3) NAND
4) OR

Q 29) Which of these has least static power dissipation? / 371'1?[ I f5ad o1 ¥ 9 QAfds
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Sl 3T g2

1) MOS
2) CMOS
3) TTL
4) ECL

Q 30) Which statement is FALSE? / DI T HYF T %?

1) SCR is a bidirectional device / SCR Udh fefa=r SR %

2) SCR is a controlled device / SCR Udh fdfad fearga %

3) In SCR the gate is the controlling terminal / SCR Rl 39_@1%"]7[ GERK %

4) A SCR can be considered as two inter-connected transistors / Y TSR P &l IRER-
IS TifoRex & =4 H [T o bl §

Q 31) A full adder can be made out of/ T% YU Arold 3 fAffd 8 goar 3|

1) two half adders/ Gl 3 TloTen!
2) two half adders and a OR gate/ 3l 31 AIoih! 3R TH OR e

3) two half adders and a NOT gate/ RIS EARCIR & NOT 7Ic
4) three half adders/ T o Aol

Q 32) Master slave flip flop is also referred to as/ HIXCX w14 oY 7T &l & =7
# oft Wefifa frar smar 3

1) Level triggered flip flop/ ad Ial IS oy Tairg
2) Pulse triggered flip flop/ UcH Ié‘ 3 oy wairg
3) Edge triggered flip flop/ Ul Ié‘ Ié [ESERSIE

4) None of these/ ET'FE[ I aﬂs‘ q_sﬁ
Level 2 Answer key

Question No. | Option Question No. | Option
1 1 31 2
2 1 32 2
3 3

4 1

5 3

6 1

7 2

8 3
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Y 3
10 1
11 2
12 3
13 4
14 4
15 4
16 4
17 1
18 2
19 4
20 1
21 3
22 1
23 2
24 3
25 1
26 3
27 4
28 1
29 2
30 1
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